Name: Date:

Teacher: Class:

Multiplication 206

Tongue Twister: Shallow ships show some signs of sinking.

Multiply these numbers. LOTS OF
Example: 3LOTSOF5=15 3x5=15

3. 7)(5: 13. 6)(5: 23.3)(5:
4. 8)(5: 14.5)(5: 24. 2)(5:
5. 9)(5: 15.4)(5: 25. 7)(5:
8. 9)(5: 18. 10)(5: 28. 2)(5:
9. 1x5= 19 gx5= 29. 7 x§5=
10. 8 x5 = 20 5 x§5= 30. 2 x5 =
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Answer Key Date:

Teacher: Class:

Multiplication 206

Tongue Twister: Shallow ships show some signs of sinking.

Multiply these numbers. LOTS OF

Example: 3LOTSOF5=15 3x5=15
L 4x5=20 1. 5x5=25 2. 2x5=10
2 9x5=45 1210 x5 =50 2. 1x5=5
3 7x5=35 13 6x5=30 23 3x5=15
4 8x5=140 14 5x5=25 24 2x5=10
> 9x5=45 15 4x5=20 25 7 x5=35
6 3x5=15 6. 6 x5=30 26. 10 x5=150
. Bx5=25 7.8 x5 =40 2. 1x5=5
8 9x5=45 18 10x5=150 8. 2x5=10
% 1x5=5 196 x5=30 29 7 x5=35
10. 8 x5=40 20. 5 x5=25 30. 2x5=10
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